Al A2
FRAMMEEmEELHEN

BF . EBAEEHKS 3 PSP N EES

BuR SELTR

| AR e R RE

FIFATTRERSRIDEE 12mm (Bu-yo=ERBHE x 183 H 3, 6128508 x 6T
FIFATTRERSRSIDE Y 8w (B%-voxERmEM x 177 B (ss-voxERmSER = 21,672 =
= R YAL SEY S 3 = 1 o] ®
NS HE-YDAEE
197.0 H 3991 H - 60 490 x 3 & = 197.0 H
HEANGE BN EY 14U OFRERES (9)
- BEANGEFRE -2 1 45
7,042,312 | -EB & )
- EH0E 1 5
HEANGEFE ~ 2,015 wwm| - 2
= 3,941 H £t 3
mE 1BEAYOMEE (Fd)
10.2 [ | - #mMMRIRAE 0m = 21,672 = 0.0 § ®»
- EREERE 0m + 21,672 msm = 0.0 § ®
- ERAREKE 0l = 21,672 mm = 0.0 @ ©
- FRAEER 220,286 1 - 21,672 mm = 10.1 @ o
- FHEE 0l =+ 21,672 espy = 000 § ®
- EREEERE 0ol - 21,672 = 0.0 F§ ®
- FERREE 3,215 = 21,672 mm = 0.1 @
- FREEH (N 21,672 = 0.0 F§ ®
- Z D 0m =+ 21,672 = 0.0 {§
10.2 A
EBEH EEDH DM K
1R S - Y OREERE (Fiid)
A 174.4 M &7 E ST it A% il F AT AR5
EHNE B 102,161,818 @ = 304 = 21,672 wm = 157.1 @ ®
WIETEE 11,251,400 + 304 +~ 21,612wm= 17.3 H ®
A = F = 21,672 w = A ©
H = g = 21,672 s = H o
A = F = 21,672 mm = B ®
A = F = 21,672 s = 2= G
174.4 M
EEH EEDH B MR !
ZDfth BiEE 0om =+ 21,672 s = 0.0 [
DEE 0.0 M [+ 21,672 mm = 0.0 [
BFt |1EEHY WITERAK 640M BE L IR 2R 960 M
@ 381.6 H @ 763.2 H x 100% (zuzass = 763 H
252 Y
763.2 H

X ASGHEHRT SERICOVTIE, T8 (RARBAR) EMKRL TS,
X ERMENFEEME (2, 01565R) (X, 7. 756%ME/BA x5E x2BATHEL TLET,



